
Xqlyhuvlwã ghjol Vwxgl gl Plodqr0Elfrffd 0 Idfrowã gl HfrqrpldHvdph gl Dqdolvl ghl Gdwl +prgxor E,7 iheeudlr 5337QE = Frpphqwduh vhpsuh l ulvxowdwl rwwhqxwl=41 Prghool orj0olqhdul shu wdehooh gl frqwlqjhq}d d grssld hqwudwd gl glphqvlrqh u � f =d, vslhjduh lo vljql�fdwr ghoo*lsrwhvl qxood K3 = �Em @ 3 shu m @ 4> ===> f h suhvhqwduh xq prgr htxlydohqwh gl hvsulphuh odvwhvvd>e, looxvwuduh od frvwux}lrqh ghood vwdwlvwlfd0whvw shu yhul�fduh od suhfhghqwh lsrwhvl qxood frqwur o*dowhuqdwlyd gho prghoorvdwxur/ iruqhqgr vljql�fdwr h irupdol}}d}lrqh ghoo*lsrwhvl dowhuqdwlyd1
51 Relhwwlyl jhqhudol ghoo*dqdolvl glvfulplqdqwh/ gh�ql}lrqh h ghwhuplqd}lrqh ghood sulpd ixq}lrqh glvfulplqdqwh1
61 Frq o*relhwwlyr gl vslhjduh lo sursulr ulvfklr gl fuhglwr xqd edqfd fodvvl�fd : d}lhqgh/ vxh folhqwl/ lq edvh do idwwr vhlq sdvvdwr txhvwh vldqr ulvxowdwh lqvroyhqwl r phqr/ lq sduwlfroduh 6 vrqr vwdwh fodvvl�fdwh qho juxssr clqvroyhqwl lqsdvvdwr* h oh uhvwdqwl qho juxssr cvroyhqwl lq sdvvdwr*1 D txhvwr vfrsr vxooh d}lhqgh frqvlghudwh yhqjrqr ulohydwh ohvhjxhqwl yduldelol= [4 @ qxphur gl suhvwlwl ulfklhvwl qhjol xowlpl wuh dqql/ [5 @ qxphur gl frqwl fruuhqwl dshuwl suhvvrod edqfd1 L ulvxowdwl vrqr ulsruwdwl qhood pdwulfh [ vhjxhqwh=
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d, Fdofroduh od pdwulfh W gl ghyldq}h h frghyldq}h gl [=e, Vfrpsruuh od pdwulfh W lq vrppd ghooh pdwulfl gl ghyldq}h h frghyldq}h qhl juxssl h ghyldq}h h frghyldq}h iud ljuxssl1f, Fdofroduh l sxqwhjjl glvfulplqdqwl ulvshwwr dood ixq}lrqh glvfulplqdqwh hvwudleloh vdshqgr fkh
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g, Ulfodvvl�fduh oh xqlwã vwdwlvwlfkh vhfrqgr od ixq}lrqh glvfulplqdqwh hvwudleloh1 Txdqwh vrqr fodvvl�fdwh fruuhwwd0phqwhB

71 Od glvwdq}d fkl0txdgudwr= gh�ql}lrqh/ sursulhwã h lpslhjkl1
81 Xqd d}lhqgd vdqlwduld ë lqwhuhvvdwd d ydoxwduh od srvvlelolwã gl ulvwuxwwxuduh dofxql ghjol dpelhqwl gryh yhqjrqr r�huwl lvhuyl}l gd dofxql dpexodwrul1 D wdo sursrvlwr o*d}lhqgd vdqlwduld ghflgh gl vyrojhuh xq*lqgdjlqh vx xq fdpslrqh gl :5<sd}lhqwl1 Jol xvxiuxlwrul ghjol dpexodwrul frlqyrowl qhoo*lqgdjlqh vrqr fodvvl�fdwl vhfrqgr o*dpexodwrulr gl ulihulphqwr+D/ E/ F/ G, h vhfrqgr lo jlxgl}lr hvsuhvvr flufd lo judgr gl frpiruw ghjol vsd}l gl dwwhvd sulpd gl xqd ylvlwd +shuqlhqwh frqiruwhyroh/ srfr frqiruwhyroh/ deedvwdq}d frqiruwhyroh/ prowr frqiruwhyroh,1 Od wdehood gl frqwlqjhq}d ulihulwddood fodvvl�fd}lrqh ghl sd}lhqwl ë od vhjxhqwh=Jlxgl}lr vxo frpiruwDpexodwrulr shu qlhqwhfrqiruw1 srfrfrqiruw1 deedvwdq}dfrqiruw1 prowrfrqiruw1D 89 4 53 <E 7 43 45 7F 56 53 9< 79G 46 47 <4 66:

=
Dwwudyhuvr o*dqdolvl ghooh fruulvsrqghq}h vl vrqr rwwhqxwh oh gxh vhjxhqwl pdwulfl oh fxl frorqqh ulsruwdqr ulvshwwlydphqwhoh surlh}lrql ghl sur�ol Dpexodwrulr h oh surlh}lrql ghl sur�ol Jlxgl}lr vxo frpiruw vxjol dvvl sulqflsdol hvwudlelol=597 4> 7<6: �3> 7969 3> 36963> 739; 4> 4564 3> 6;853> 59<3 3> 7889 �3> 4773�3> 7359 �3> 4779 3> 34::
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d, Txdqwl dvvl sulqflsdol vl ulwlhqh fkh vld xwloh pdqwhqhuh qhoo*dqdolvlBe, Lq edvh dood ulvsrvwd do sxqwr d, vl h�hwwxl xqd rssruwxqd udssuhvhqwd}lrqh jud�fd ghl ulvxowdwl h vl frpphqwldghjxdwdphqwh1f, Ydoxwduh od txdolwã ghood udssuhvhqwd}lrqh ghl sur�ol uljd h frorqqd qhoor vsd}lr ghjol dvvl sulqflsdol pdqwhqxwl1


